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Check your work.
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Triangular Prism

Hexagonal Prism

Triangular-based Pyramid

Square-based Pyramid

Triangular Prisms have 5 faces, 9 edges, and 6 vertices.

The two faces at either end are triangles, and the rest of the
faces are rectangular.

Hexagonal Prisms have 8 faces, 18 edges, and 12 vertices.

The two faces at either end are hexagons, and the rest of
the faces are rectangular.

Triangular-based pyramids have 4 faces, 6 edges and 4
vertices.

The base is a triangle. All of the faces are triangular.

If the triangular faces making up the prism are all
equilateral, then the shape is also called a Tetrahedron.
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Square-based Pyramid

Square based pyramids have 5 faces, 8 edges and 5 vertices

The base is a square. All the other faces are triangular.

Hexagonal Pyramid

Hexagonal pyramids have 7 faces, 12 edges, and 7 vertices.

The base is a hexagon. All of the other faces are triangular.
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LINE SYMMETRY SHEET 12 L.\

Use the 2 mirror lines to complete the rest of these patterns.
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LINE SYMMETRY SHEET 12 ANSWERS
Use the 2 mirror lines to complete the rest of these patterns.
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Coordinate Plane Grid

How Coordinates Work

When dealing with coordinates the most important fact to remember is that
the x coordinate (the horizontal coordinate) always comes first
and the y coordinate (the vertical coordinate) always comes second.

This can be remembered with the saying ‘Along the corridor and then up (or down)
the stairs.

So the coordinate (4,7) means 4 squares along (to the right) and 7 squares up.

The coordinate (-2,-4) means 2 square along (to the left) and 4 squares down.
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Al coordinates consist of two numbers separated with a comma and usually within parentheses.
The first number is the horizontal coordinate, or the number along the x axis.

The second number is the vertical coordinate, or the number up the y axis.

So the coordinate (3,1) means 3 along and 1 up.

Often children get their coordinates the wrong way round and go up first and then along, ending up
with the coordinate (1,3).

An easy way to remember the correct way is

x is a cross so the x coordinate always goes across.’
We can also say that.

x always comes before y, so the x coordinate is always first.’
This means that...

« the first coordinate, the x coordinate, is the amount you go 'across'’;
« the second coordinate, the y coordinate, is the amount you go 'up' or 'down’.
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In the above example:
The red triangle is at coordinate (3, 4).

The yellow square is at coordinate (-3, 2).

The blue pentagon is at coordinate (-5, -2).

The green circle is at coordinate (1, -5).
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FIND THE COORDINATES 2

Use the coordinate grid to work out the coordinates below.

1)
3)
5)
7
9)

P

”*

% \
Dolphin (1,7) 2)  sandcastle(__,__)
Chest(__,__) 4)  Bucket(__,__}
Fish(__,_) 6 starfish(__,__)
Seahorse (__,__) 8 Ccrab(_,_ )
Ice cream (__, __) 10) Lifering (__,__)
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FIND THE COORDINATES 2 ANSWERS

3)
5)
7
9)

o

£

*

<X

Dolphin (1, 7)
Chest (-1, 5)
Fish (-4, -6)
Seahorse (-7, -2)
Ice cream (1, -6)

2)
4a)
6)
8)
10)

Sandcastle (7, 6)
Bucket (-6, 1)
Starfish (4, -5)
Crab (5, 0)

Life ring (-7, 7)
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DIVISIBILITY BY 9

Divisibiliy by 5.
Eschof thece e s diigble by 5. Work ina

small group.
54 8 18 9

603 927 3% 567
170 7353 1404 8199

Discussion Tine,

o can you el f a arber i il by 52

Write o summary of your group's ideas n the space delow.

Tnvestigation  Tf a rumber is divisible by 9 it must also be diisible by 3.

Ts this statement trug?





image2.png
DIVISIBILITY RULES

Rules, Rules, Rules — no one likes to follow the rules, But
sometimes there are good rules, like the ones that allows you
to do less work ! Well these are the kind of rules that you will
find in this Power Point Presentation. There are many
shortcuts and tricks that allows you to test whether a number,
or dividend, is divisible by a given divisor. This Power Point
Presentation focuses on you the most — frequently studied
Divisibility rules which involve divisibility by 0, 1, 2, 3, 4, 5, 6,
7,8,9,10, 11 and 12.
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HOUSE BUDGET
Budgeting to Buy New House
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Cube

Cuboid

Cubes have 6 faces, 12 edges and 8 vertices.
All sides on a cube are equal length.
All faces are square in shape.

A cube is a type of cuboid.

Cuboids have 6 faces, 12 edges and 8 vertices.

All the faces on a cuboid are rectangular.
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Sphere

Spheres have either 0 or 1 faces, 0 edges and 0 vertices.

Ellipsoid

Ellipsoids have either 0 or 1 faces, 0 edges and 0 vertices.
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Cylinder

Cylinders have either 2 or 3 faces, 0 or 2 edges, and 0
vertices.

Cone

Cones have either 1 or 2 faces, 0 or 1 edges, and 1 apex
(which is described by some mathematicians as a vertex).





